122-079(  049-2) (1/2)

cm
10|20
10(20|30
o 10 20 30 40 50 [
= 0.80 0.8 E
E (VAVAVAVAY] 13 =
IAVAVAVAWA 122 /| 7/ =
(VAVAVAVAY] BEREAEEEY
NAAAN 176 =
(VAVAVAVAY] =
JAVAVAVAWAY =
(VAVAYAYAY]
NAANI l2.15] 1 | 2 4 3
\VAVAVAVAY] ey / =
YAYAViVA 9 14| 1 [33]3.8 E
(VAVAVAVAY] 2.48 -
NAAAN =
(VAVAVAVAY] =
AAAA N 130/7206 s 12 2 =
(VAVAYAYAY] . =
NAAAN 15 | 16 31 1. 3
3.70 2.09" VAV 3.46 =
00 - —= 3
05029 415 20 =
2570 : .15 | i =
0,9 5|87 |30] 2 3
Q-0 - w3 =
4.70 1.000~0~ 0O X =
..... 5.15 10 —
5.15| i =
3143 |3] 1 =
5.45 =
6.15 12 =
7 =
""" 4| 4a|al30]| 12 =
6.45 3
7.15 14

7.60 2.90 * * " " ° TS
..... 515 n E
R Z e

6 | 7|8 [3]| 29 =
..... 8.45 3
..... o1 "
..... —— /

719 ]10[30]| 26

9.700 2.10° * * * ° 9.45
R 10.15 a =
SO 10 110 [ 11 |30 31 =
e 10.45 =
.. .. .. .. .' a1 —
R 11.15 i E
""" 9 |15]17 (30| 41 =

11.60 1.90 - - - - | 1175 E
NNV =
\VAVAVAVAY] =
IAVAYAYAYA
\YAVAVAVAY] 12.15 y =
IAVAVAYAYAY
A\YAVAVAVAY PR 12 | 13 | 15 | 30 4
AYAYAV . =
(YAYAYAYAY] =
WYAYAYA pe =
\VAVAVAVAY] 13.15
NAAAN /

\YAVAVAVAY] 15 | 17 [ 15 | 30 | 47
IAVAVAYAYAY 13.45

\AYAVAVAY
IAYAYAYAYAY

o %
s 19.15; / /

19.31

""" 17 50
. 20.15 / /

(VAVAVAVAY] 14.15 48 4
AAAAN — / 3
14.50 2.90"/ MY 15 | 16 | 17 | 30 | 49 =
VAVERERE 14.45 3
VA e E
ININT e e o 50 —
VA e 15.15 > =
oot 21| 29 20| 75 N 3
15.35 =
AN/ =
VAVAY =
i =
VAVAY 16.15 11 | 50 3
NN 116.151 /|7 -
VAAY 16 | 23 | 3 | 23 |65.2) =
i 16.38 3
VAVAS =
AN/ 3
VAVAY =
i ) ’ e
AN/ 12 |15 | 21 [ 30| 49 =
VAAY 17.45 3
i =
VAVAS =
i e 7
1850 4.00/\/\/ 12 [ 15 [ 20 [ 30 | 47

20.30

21 50

R
e
~
~
/



N
=

N
N

N
[N

N}
I

I
A

23.70

25.30

91 o 1

20.30
21 50
|21.15] / /
29| 7 17

21.32
14 50
22.15 / /
36| 3 13

22.28
19 50
23.15! / /
315 15

23.30
20 50
24.15 / /
30| 7 17

24.32
21 50
25.15 / /
29]5 15

N
o
|
=)

10

122-079(

049-2) (2/2

)

L

115

100

100

bW b




